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01 Al& H| 30,000 30,000 0
Ollsax=: E4Z2 A 3,000,000 = 5J0 A 15,000
OltSALT BOotAlA AX|
3,000,000 = 5J0 A 15,000
AABEAIE HEAS 700,000 333,000 367,000
2 490,000
= 210,000
401 A& HI L 204 HI 700,000 333,000 367,000
2 490,000
= 210,000
01 Al&H| 697,000 333,000 364,000
OARE S AA M2 ALYl (MA X )
170,000,000& = 14l 170,000
= 120,000
= 50,000
OARE =TAE HSANS(RARF)
128,000,000& = 14! 128,000
2 90,000
= 38,000
OARE =T A JHSANS(HAXT)
399,000,000& = 14! 399,000
2 280,000
= 119,000
03 Al 201 Y| 3,000 0 3,000
OARD 2TAIA JNEAY AlE 20HH|
3,000,0008 = 14! 3,000
A2 =S A& HZX2H 15,000 15,000 0
401 Al HI L E0HHI 15,000 15,000 0
01 A& H| 15,000 15,000 0
OHZ2HXc2lEl & 0ISAd MES Z2AHH]
3,000,000& = 5J0 A 15,000
ot=& 22 V447 254 1,746,415 A 299,161
= 340,000
= ,107,254
SO E OISolx=% HHIAY 486,000 794,000 A 308,000
= 340,000
= 146,000

N




SAM
35

Sl SOE DS54 E HElAY CERED
4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=28 LN F sHEOS ota=% EHIAMY 486,000 714,000 A 228,000
= 340,000
e 146,000
401 Al&HI & 28I 486,000 714,000 A 228,000
= 340,000
s 146,000
01 A& HI 483,000 710,000 A 227,000
O38 ¢4LXP? sHEDNS ot=% FUHIMZ
483,000,000& * 14 483,000
= 340,000
e 143,000
03 AIE S THHI 3,000 4,000 A 1,000
O=2&8 ¢4X+ sHEDNS ot=% EHIALSE
£ gl 3,000,000& * 14l 3,000
272 OtSot=% ZHISA 492,880 492,880 0
ot=% &l 402,880 402,880 0
TAEHZXEUY 402,880 402,880 0
01 A& HI 400,000 400,000 0
OA2 202 dt=% FHISAHHI
100,000& = 4,000m 400,000
03 AIE 2 0HHI 2,880 2,880 0
OA21 202 dt=& ZFHISA 204bI
400,000,000& = 0.72% 2,880
ot =4 50,000 50,000 0
401 AIEHIZ 28I 50,000 50,000 0
1 Al £l 50,000 50,000 0
Odt=Hel2d U st =& 3 Akt
12,500& = 4,000m 50,000
DiS=sXeld 22 B3 M 40,000 40,000 0
401 AIEBIZ 201 8I 40,000 40,000 0
01 Al& tl 40,000 40,000 0
O0tSot==Xeld 22 23 Akl
4,000,000 * 1000 & 40,000
OtSot=Hel & 29 380,848 357,714 23,134
OiScts=Held 23 380,848 357,714 23,134
201 L2l 177,328 179,210 A 1,882
02 =224l 177,328 179,210 A 1,882
o222 ¥ HMAl 100,328
oOMIIR3 178,240 * 36 & * 1201 & 77,000
O Sgztel gyl sl&t|
54,0003 = 363l& = 120H& 23,328
O[AIE &BIRXIBI] 77,000




=T ALY A
St=& 2tel
T LRIt bol & R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIHAH |XE=H
611,100& * 36M A = 1/2 11,000
onoEZ sX2cltl
200,000 = 80CH = 1/2 8,000
OA=4d ¥ REH X224l
555,550 * 36M A = 1/2 10,000
O &JEd X2l 444 4403 = 3600 & 16,000
O F#&&H sXz&el
1,777,770 * 36004 * 1/2 32,000
202 4l 2,080 2,080 0
01 SLHOYI 2,080 2,080 0
O%=ZAA AIZXHH bl
20,000& = 121 * 3 » 123 720
OAMEE 82 & E= 0l
20,000 = 291 = 34 1,360
401 AIEHI L 2 CHYI 201,440 151,080 50,360
01 A& HI 200,000 150,000 50,000
Oa7%2 MelAME HMEX HHISA
100,000,000 * 200 2 200,000
03 Al S HHI 1,440 1,080 360
Oa7%2 MelAME HMEX HHSAH 2L
400,000,000& * 0.36% 1,440
HEte ost=XMelAld 23 87,526 101,821 A 14,295
SH otXa AME2E 44,842 67,642 A 22,800
201 L2l 30,716 49,316 A 18,600
01 At 22l 4,200 4,800 A 600
Olget=&Hl] 4,200
O HJIZ € HMelll
150,000& » 1= » 128 1,800
O&IIHMZAZIUNY =2
200,000& = 123 2,400
02 =24l 26,516 44,516 A 18,000
Ols=22 % HAl 21,960
O 4ot AIE= 30,000& = 123 360
oOMIIR=3 1,800,000& * 12& 21,600
O[¢ZHl] 926
OoHl&agdI 2=
1,851.52& = 504 = 10Al2} 926
O[AMAEH R XYl 3,630
OJIAHAH KA A2 1,630
o02Y 250,000 ~ 1E& 250
o FelAa 140,000& * 2& 280
o B 100,000& * 1E& 100
o HIAH¥ 10,000& = 10&  107H 1,000

_4_




SA SETARA
B slas 22
SHol Sl staXEAE 29 (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMIIEH SN A2 2,000
o &I XD 50,000& = 10& 500
o EtOIH 25,000& * 204 500
o 2H Y LA 500,000& = 23] 1,000
202 04 d| 400 400 0
01 KOt 400 400 0
ON&EE HZ L 2201l
20,000& = 121 = 20 400
206 M = dl 13,726 17,926 A4,200
01 & bl 13,726 17,926 AN4,200
OZQAIE S&E M (PAC) 2452 = 860kg » 128 2,529
OSQAA It AL 286& * 640kg » 12& 2,197
O%=2& TMS SXl 22 2EH|
500& = 50kg = 30 * 12& 9,000
SHAMH Bl HelAld 29 42,684 0 42,684
201 Bt A H| 29,516 0 29,516
01 AtSR 22l b 3,000 0 3,000
OlgetLaH|] 3,000
O HIIZ2 <& Xealyl
150,000& * 1€ x 12€ 1,800
OXI|otM 22 S =42
100,000& = 12&€ 1,200
02 3524t 26,516 0 26,516
Ol232=2YLHA] 21,960
O 4ol AIEE 30,000& * 12& 360
oNIIea 1,800,000& * 12& 21,600
O[e2dl] 926
OHIMYAI HE 1,543 * 304 * 20Al2t 926
O[A&EEHI S Xl 3,630
OJIHEH XA A2 1,630
0 2¢g 250,000& * 1&EH 250
o #alA 140,000& * 2& 280
o RSN 100,000& * 1&& 100
o HIHE 10,000& * 10& * 10JH 1,000
O&II&EH K22 A2F 2,000
o &Il XD 50,000& * 10= 500
o EtOIH 25,000 = 2004 500
o 2H ZY LA 500,000& =* 23] 1,000
202 04 dl 400 0 400
1 2L 400 0 400
OANEZE 83 L 2=20Yl
20,000& = 121 = 20 400

_5_




=T ALY A
St=& 2tel
BCe GtameAY 29 Sl E )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 12,768 0 12,768
01 =4l 12,768 0 12,768
OS& M (PAC) 2202 * 800kg » 12& 2,112
Ootgatt 2303 = 600kg » 128 1,656
O=& NS |Xl&2 <ZH|
25,0003 = 30 = 123 9,000
S(=T A ) 4,502,615 4,344,330 158,285
Hel XI& 4,502,615 4,344,330 158,285
=& 3JIEXNE HES 1,490,615 1,615,795 A 125,180
09 HMES 937,015 962,195 225,180
01 BIILELEIHBILEEZ 937,015 962,195 A 25,180
OM4E oIl XE (4491)
872,621,000& * 14 872,621
O&2=% JIMOIK &2 (B3STUH22 38)
64,394,000& * 14 64,394
404 SIS NHENES 553,600 653,600 100,000
01 BIILELEIIAHMNEBNES 553,600 653,600 100,000
QI3 as(ast32 38)
553,600,000 = 14 553,600
St=% ZIIgXd EES 3,012,000 2,728,535 283,465
309 =2 2,200,000 2,226,975 A 26,975
01 SILELIHNZINEES 2,200,000 2,226,975 A 26,975
Odta=% o244l XI&(282!)
1,000,000,000& * 14l 1,000,000
OUiSct=3ZHMeld 232IHI(HI], A &
) 1,200,000,000& * 14l 1,200,000
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